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PHYSICS (Theory)
Ay : 3 9T | [qoie : 70 -
. U< U< & Aiav n dgd fayga Rera & | 9 gy 9 fiq qof dea delad s — 1
(a) ne/co @) 2e/co (W) 2ne/co @ T

n electric dipoles are placed inside closed surtace. Total electric flux through the closed
surface will be -

{a) nefco (b)y 2e/co (¢) 2ne/co (d) zero
2. WS HrAe S BaT B - 1
(1) Badt g & (3) DAt FEDHIF &7 (F) Igd Ud gRS 83 <141 (3) Iggd vd geaa &3 QA1 A
W B TE |
Moving charge produces -

(a) Only electric field (b) Only magnetic field (¢)Both electric and magnetic field
(d) None ofthe electric and magnetic field.

3. UF Ifier @ yorEdt aRuy § uredid 4 uftgay @) gRuw F g1 @1 Brew A w - 1
() 4 yRER @) 8 TmR @) av2ufmmR (8)  2V2 OO
The reading of an ammeter in alternating circuit is 4 ampere. The maximum value of
current in circuit will be -
(a) 4ampere (b) 8ampere (C) 4v2 ampere (dy 2v2 ampere

4. A ¥ P A T Rga gee @R T8 R - -
@ Mo @) WEmaT () Wi fafee, @ af a3
Which of the following wave is not electromagnetic wave -
(a) Radio wave (b) Micro wave (C) Ultraviolet radiation (d) Sound wave

5. 9y 9T B A1 3x10° Ho /Fo B | 1.5 AUIHIE Trel Be ¥ YT &) 9Te ar el ? 1
The speed of light in air is 3x10°m/s. What will be the speed of light in a glass of refractive
index 1.5?

6. U & 9T & Gl W Sl @R At gtegl @ Far ded # 2 _ 1

What are electrons emitted due to effect of light called ?
7. R e ofaca uard A ife W e ad SRl @9 o e tiied uerel 9 e e
R T T TR ? 1

How will the mass number of a radioactive material change when one a particle is
emitted from its nucleus ?

8. IR @7 v § wga B aren waifere W uerel @ qM ey | 1
Write the name of maximum used material in the construction of transistor. .
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wa@zﬁaﬁﬁﬁmﬁsﬁwﬂmmﬁhsﬁwwm WWWWEW? 2
How many electron should be removed from a piece of metal so that 1.0x10 " coulomb of
positive charge isleftonit?

Waﬁnﬁwww@%aﬁmmﬁ?sﬁwﬁi | 2

Can two equipotential surface intersect each other ? Explain it.

R,, R, @2 R, afeRwl & & averent @y sioft soo 3 SiveT 7 2 | T T &1 2 S i |
Three conductors of resistance R,, R, and R, are connected in series. Find the formula
for equivalent resistance.

WWI’—I@G{&]O Iﬁo/ﬁoaﬁéﬂﬁ"kwé@?/qﬁqﬂ?iﬂaiﬁfﬁlﬁu&ﬁ o orad YI9 &R 5
2 | goraeT @ TR A1 @ Foar sa iR ?

An electron beam, with speed 3x10° m/sec enters perpendicularly in a magnetic field of
luoé N/ampere-meter. Calculate the radius of path of electron beam .

umﬁaquﬁqaﬁﬁwwhaﬁmq%aaﬁwwmawmmﬁqﬁaﬂ?m
ER1 eIy | 2
Using graph show the variation of inductive reactance and capacitive reactance with
change in frequency of source in alternating current circuit.

T JeEdll e @ wefie Jon Ede gueferal & Wi @1 W HEe 100 9 400 B AR
Wt HUSTH H 120 dree FATAd! AR ST 9170 &) ©id $ITHY — 2
(1) R egua(e) fedEe gredl ¥ I died
In a step up transformer the number of turns in primary and secondary coils are 100 and
400 respectively. If 120V alternating voltage applied across the primary coil. Then
find:-
(a)  Transformation ratio (b)  Volitage across secondary coil
Rrera Trea WagH 3 999 g1 9ol Wed BT o aed 1 T & A aqigd | 1+1=2
Name the wave with maximum and minimum wavelength in electromagnetic spectrum .
yeTe @ Tof areaRe TReds @1 I fra | 2
Write the conditions for total internal reflection.

grrar (OR)
wIf~ad BIvT 3 afarT DY | e 9y & sad=ie g Hif<d 107 H we Ay |
Define critical angle. Write relation between critical angle and refractive index of denser
medium.
A Rugex d a<d &1 71 &M ¢ | ﬁbfs"[aﬁeaﬁa%?rmﬁ‘vrﬁqm 1+1=2

What is the function of a moderator in nuclear reactor. Write the name of two
moderators.

gerar (OR)
A@E Ruaes # Foae 531 &1 a0 o 8 2 3 B8 def-19W &1 € 991 978 Wi & ¢
What is the function of controlling rods in nuclear reactor ? Why these rods are made of
cadmium only ?

wq@%awaﬂa@wwmaﬁzzammﬁmwzqmé | g™ ABI a1 BT ?

The maximum and minimum amplitude of a modulated wave is 10 volt and 2 volt

2

respectively. What will be modulation index ?
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B e T T AT BRI, af IHH) e & e Uy ARGH &l WIdgdie K 2 | 1+2=3
There are two metal spheres one small and other large. Which sphere will have more
capacity ? Derive formula for the capacity of parallel plate capacitor if a medium of
dielectric constant K placed between the plates of capacitor. .

wearadt T ufRuer ¥ wifde A oy arfdyry 2 2 goisd i L-C-R uRuer # ufty wrsfee oilva wfwt e
P=V_x1_xcose g2, 5E ¢ Hel BT | | 1+2=3
What do you mean by power in alternating current circuit. Show that in L-C-R circuit
average power loss per cycleis givenby P=V_ x1, xcosg where ¢ris phase angle.

24 00 Fepe! BroyT F1e-3rader YU © W 3 QoHlo Y g0 R e Amach W B | JEe! B
e o) Rerfdl s AR 3
A candle is placed at a distance 3 cms from the concave mirror of radius of curvature 24
cms. Find the position of the image of the candle.

diegar (OR)
30 Qo0 T AT aTel IO UV F AW 20 HOHI0 B GO W U A% I © | aK] B ylAE= B 5
Rerfer v iy |

An object is placed at a distance 20 cms from the convex mirror of radius of curvature 30

cms. Find the position of the image of the object.

UhT¥I TR & ATASROT W MY 1 qA & © GR!0 fAAreh @fdexv eq A1asasd ¥l &f Sl
BT | 1+2=3
What do you understand by interference of light waves. Write the conditions for the °
constructive and destructive interference.

arenfom @ sigeny 140 &7 & drelifam #1 16 IW AET A W 15 I F fAEed fFan wwa H 8 3
SITRIATT ? |

Polonium has a half life of 140 days. In how many days 15 gms polonium out of 16 gms
will decay.

f&dT OR gate &1 o Fciiep, FoId @uid Tl Fedal ARo e B | 1+141=3
Give logic symbol, boolean expression and truth table of OR gate.

serar (OR)

el AND gate &1 @ifsies dfie, gferam we de doaar vl w=eRia $iforg |

Give logic symbol, boolean expression and truth table of AND gate.

pnp SRR %1 uRue g <wfgd | p-n 9fy Saie # arrfefRie o awr yare uRRuey wiges ga15d |
Draw circuit symbol of pnp transistor. Explain using circuit diagram, the flow of current

in p-n junction diode in forward biased. 1+2=3

_ izgar (OR) ‘
npn e @1 aRuy &g eolzd | p-n ¥ SR ¥ veafkfe § uxt yarg aRue digax
qargd |
Draw circuit symbol of npn transistor. Explain using circuit diagram, the flow of
current in p-n junction diode in reverse biased.
frd Y YR @raven & O 1 ague BN A B | wHIEY ? 3

What are three basic elements of any communication system. Explain ?
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<Ecll AR | AT T WHS & 2 UHT T T B st a7 oo B | 1+2=3
What do you understand by cut off frequency 7 Mention laws of photo electric effect.

Aeget aRuer B frg (el & 21=1 Prrl @1 Seokg AT den 97 Teradn @ frdl e Ag 3
Hferd &1 &1 Y P/Q=R/S YeIled Sy wiwl Gaal o amra 3ef € | favamdy v firgr w
F AR | 2+2+1=5
Write Kircchoff’s both rules for electrical circuit and using them derive balance wheat
stone bridge formula P/Q=R/S. Where symbols have their usual meanings. On which
principle potentiometer works.
gl (OR)

X WY @1 Rigr aRue o &) Gerd 9 wie1sd | 399 9erd ¥ 59 T1as 71 ghRe 9
1A & ? Tl e & <ffFa fRvam 9 figgeares 9a 9w o1 9o fafkay |
Explain the principle of meter bridge using circuit diagram. Using it how will you find
resistance of conductor ? Write down the formula for the relation between terminal
voltage and emfofthe cell.
FHUMHS GBI YRy It () uared &1 geseer A0 | J-geea @ RAft= Jaudl & wwemey
TAT STH ATIT A Fa=e7 Wi Py | 1+242=5
Give an example of magnetic material with negative magnetic susceptibility. Explain
different components of earth magnetic field and establish relation between ther.

| erar (OR) .
SN I BT BT fAfe | ufiaar &1 uRuef fam a1 € ? ofimr & aRRuefia Fram &1 9w ave
T AT oTH1g & W URTRS T P HROT SU=T B & ST 43 Wa By |
Write the expression for Lorentz force. What is Ampere circuital law ? Using Ampere’s
circuital law derive expression for magnetic field produced by a current carrying
conductor of infinite length.

ﬁﬂﬂﬁ?ﬁueﬁawwma%mﬁﬂa%mqa—- -=”
BT AT 37 R |

n 1 n—l

Deriverelation 7~ ;= 7 forrefraction of light on spherijcal convex surface. Where
symbols have their usual meanings.

aar (OR)
%ﬁﬂﬁ?ﬁﬂ&ﬂﬁawwmzﬁaﬁé—%ﬁmvﬁ—— tort
&1 AT 31ef B | .
1 1 n—-1
Deriverelationy ~ = "z forrefraction of light on spherical concave surface. Where
symbols have their usual meanings. .
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